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(350%200%1300)

FRAMEARE  (5.55m = 18.55m & L THEH)

M4 g 100m? 2 L) = H -1
S2E $2.0 % 50 * 50 140m? 100m2 * 1.4 = 140m2
REY $16 * 400L 30K 32/10m * 100m = 304
INEY $9 * 200L 1504 15/10m2 * 100m? = 15074
HEHMHRE 5.2n/ 1.3m+ 1 = 5K
5 * 18.55m * 37 = 278.3m
ERBE D10 336. 08kg HSGE 18.2m / 1.3m + 1 = 156K
152 * 5.55m * 3& = 249.8m
{(278.3m + 249.8m) * 0.56kg/m} / (5.55m % 18.55m) * 100m * 1.17 = 336. 08kg
BERRAICIKRT OERET 5.
7 Uh— D16 * 750 73K #E 54 * 1% 1557 = 1547/
754/ / (5.55m * 18.55m) * 100m = 734
BROHM AT OERET S,
BT h— D10 * 400 687 #5577 * 48 14577 = 10577
704/ / (5.55m * 18.55m) * 100m* = 687
HRERES 18.2m/ 1.3n * (5.2n / 1.3m + 1) = T0{@
H$UmR 350 * 2008 12718 HEERES 5.2m / 1.3m * (18.2n / 1.3m + 1) = 60{&
(7018 + 60ME) / (5.55m * 18.55m) * 100m2 = 127{&
BMFE 118.49 / 360 * 7 % 0.10242 — 0.176 * (0.1024 — 0.05) / 2
+0.15 % (0.176 + 0.35) / 2 = 0. 0457
BELAIL ; #E 5.55m * 154 + 18.55m * 54 = 176m
Wi b350 * h200 6. 84m SEGFEIRGER 0 0134/ 57  GELE)
0.0134m* * 54 FF * 152 = 1.005m
100m224 Y 465 (0. 0457m2 % 176m — 1.005m%) / (5.55m * 18.55m) * 100m2 = 6. 84m®
- 2 Al = 2
T —— 29, 1n? 0.35m * 176m - (0.35m)2 * 54/ * 154 = 52 41m

100m? - {52.41m? / (5.55m * 18.55m) * 100m?} = 49. 1m?




